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1. Write the following answer. IxS=15

L2

(1) Let A= {a,b} and B= {2, 3}. Thenfind AUB
4R A={a, b} WFB = {2, 3} (5% A UB Tfeveql|

(i) Convert degree to radian measure of 240°.
240° 5 f& 13 S+ Sz st Sferear |

(1i1) Express the complex number in a-+ib form of (1) (21) (- éi)3
(-1) (21) (- §1)*< a+ib SFTS A= T4 |

(iv) Find the first term if ~ a, =n(n+2)
A a, = n(n+2) 28 (ST =N 4705 Sleveat | _

(v) What is the sum of n terms of an Arithmetic Progression (A.P)?
TG WIS n O 27T CsfpeT [ 2

- Prove thatn (A UB)=n(A)+n(B)-n(A MB)_If forany set X and

Y n(X)=17,n(Y) =23 and n(X U Y) =38, the find n (X NY)=?
3+2=5
#1439 LA UB) =n (A) +n(B)-n(AMB) | R X oI
Y 2R AR n(X)=17, n(Y)=23 n(X UY) = 38, (o(F

- n(XNY) Sfaed

. Show that the four stement are equivalent. 4
(Y8 (T O GRS TRRD! 3G |
(1) AC B (i1))A-B=6 (1ii)) AUB=B (iv)AMNB=A
. Find all the remaining u_'igonometxic function if cosx = -% , Xisan 3™
quadrant. _ | 2
v cosx=-%, X DO I (BIF® TP (S0 S 55! i
T Sfe1sdl | g

PTO



5. Find sin 765°.
Sin 765° Tfered | )

T
tan (7 + x) 1 + tanx)?
6. Prove that 4 =1 )

mn(:-;"_ x) ~ (1 - tanx)? 5
tan (E+ X) (14 tanx)?
an (7 i -
A9 N @ tan(g— x  (-tanx)?
7. Show that (3¢l (V) 9

tan3x tan2x tanx = tan3x - tan 2X - tanx
8. Prove the following using mathematical induction method ( any two)

SIS TT A ©91 S 9o SfG A 2wid 41 | ( FAerie vo1 )

5+5=10
() 143+33 +......... g3ul= 4t
SRR o +,n<4(2n+1)’
1
Q253+ +n =ﬂ";—)
9. Find the Multiplicative inverse of 2 - 31. 2
2 - 3i 3 @S (79 Sfereat |
ib
10. If x Hy = Zi:b' Prove that x>+ y>= 1. 2
ib
A x +y = S, (TS & T (o +y2 =
11. Find the value < Sferaai| 3

. ] 12543
[i+(1)”]
12. Find the relation between Arithmetic Mean (A.M.) and Geometric
(GM.) TR NI N GG NI FT=0F01 Sfeea | 2
13. Find the sum of n terms of the following sequence. 2

OF] SIFNCBIA n BN #HCe CFIsTEe Bfe1edl |
9,99,999, 9999, .........



14. If a, b,c are in G.P. and aglc = bi = C% then prove that x, y,z are in
Arithmetic progrression. 2
3% a, b,c GLATGT ASES A SE gx = py = czr (SR 21

F4l (@ x, y, z 7R 2sifow AT |

15. p® g™ and r" terms of an Geometric progressionare a, b, c,
respectively. Them prove that a%" b cP9 = 1. 2
@bl welfed sifeq p O3, q O 1% r O ARCP30] IAFH a, b, ¢

A9 91 (¥ a% bP P9 = 1.
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